MPM 1DS – Linear Systems

Mr Yewen wants his students to write a math contest. The Sunlife Math Contest costs $30.00 to register plus $2.45 per student. The Waterloo Math Contest costs $4.00 per student with no flat fee. 

a) write an equation for the total cost, C in $, based on the number of students, n, for each contest

Sunlife: _____________________________

Waterloo: _______________________________


b) create a table of values and draw a graph for each math contest

	Sunlife

	n
	C ($)

	0
	

	2
	

	4
	

	6
	

	8
	

	10
	


	Waterloo

	n
	C ($)

	0
	

	2
	

	4
	

	6
	

	8
	

	10
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	c) If 8 students register, which contest is cheaper?




	d) If 16 students register, which contest is cheaper?
	e) If 24 students register, which contest is cheaper?

	f) Under which circumstances/conditions will it be cheaper to register for each of the contests?
	g) The minimum number of students that Mr Yewen will register is 10, and the most he can spend is $600. What are the possible values for n? What about C?


